
WINDSCREEN KIT
TRACER 900 / GT ‘18

YMTR9300-18

X1. WINDSCREEN 
X1. LEFT/RIGHT BRACKET KIT
X2. M5X16
X2. M5X12
X2. M5X30 
X4. RUBBER WASHER 
X4. TEFLON X4. TEFLON WASHER Ø5
X2. PVC THICKNESS H10
X2. THREATED SPACER

KITASSEMBLY INSTRUCTION

M5X16 M5X12 

M5X30

THICKNESS 
H10 
 

RUBBER 
WASHER 

THREATED 
SPACER

SPECIFIC
BRACKET


